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BiER it BB 31 e S B S AR AT 275
& g Big - BIKHE B = i & & =

B R 10,070, 270 + 217,036 10, 287, 306
EEAGE 10, 070, 270
BEiERE 217,036
Z DR {E 10,070,270 x 53.85% ( 35% + (1 — 35% ) ) 5,422,840
XHBIRAE 10,287,306 + 5,422, 840 15,710, 146
—REEEE 15,710,146 x 53.85% ( 35% = (1 — 35% ) ) — 59 8,459, 854
el 15,710,146 + 8,459, 854 24,170, 000
HEREELE 24,170,000 x 10.00% 2,417,000
REZRREH 24,170,000 + 2,417,000 26, 587, 000




BEARE T AL 25 Hh R B AR AT 75

% i Mg - RART % Hfu H B L i ' # H =
B[R i 10, 287, 306
ETE - FX - REEES 10, 287, 306
BRIBAREF R 10, 287, 306
RitTFRE 10, 070, 270
ETEIE R 243, 200
1 FHE#(R 1.00 243, 200 243, 200
=
BERNE - BE 387, 500
2 ERUNE - BE 1.00 387, 500 387, 500
=
BE7F F B D R TE £ D FFifh 4,579, 870
3 IFEREOREEOFME 1.00 4,579,870 4,579, 870
=X
BE77 38 7 OO R TE £ 0 FH4ih 2,235,780
4 BEEROZTEEOFME 1.00 2,235,780 2,235,180
=
BMREFOREMEDRE 1,881, 020
b IR EROREHORE 1.00 1,881,020 1,881, 020
=
e - ]S 366, 600
6 thed - W& 1.00 366, 600 366, 600
=
BEY 376, 300
7T EHTEREEERK 1.00 376, 300 376, 300
=




BEARE T AL 25 Hh R B AR AT 75

% i Mg - RART % B fr % 8 L i ' # H =

EEEE 217, 036
EHERARE 97,036
8 EHARE 1.00 97,036 97, 036

=
S 120, 000
9 EHARM 1.00 120, 000 120, 000

=
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51
B EHEEE 1xKyY
% b R - BIkTiEk ==K H = B M & %8 W E s &
EXETACEHD
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.00 59, 600. 00 59, 600
HEm (C)
A 2.00 40, 300. 00 80, 600
HiTg
A 1.00 36, 100. 00 36, 100
= B YEZ8eH - 1. 00K 243, 200. 00 243, 200
&5 :2
B BERIE - B 1KYy
% b R - AR~ E B H = B & %8 W E s &
ELETACEHD
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
HEm (B)
A 2.00 48, 500. 00 97,000
HEfm (C)
A 2.50 40, 300. 00 100, 750
= it E¥8EH : 1.00K 387, 500. 00 387, 500
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&= :3
& BEREORTE DA 1K%Y
% E R - kTiE B B = B W € % B =B s &
FEHRED (B&ED
A 7.70 66, 900. 00 515,130
HER (A)
A 17.50 59, 600. 00 1,043, 000
A (B)
A 29.50 48, 500. 00 1, 430, 750
HEm (C)
A 30.70 40, 300. 00 1,237,210
Hifr&
A 9.80 36, 100. 00 353, 780
=1 B E%HeH - 1.00=K 4,579, 870. 00 4,579, 870
S 4
& BIEEFE DR E DT 1KLY
4 {1 A - KT BAf B = B i * %8 = w &
FEHRED (B%ED
A 4. 60 66, 900. 00 307, 740
A (A)
A 8.70 59, 600. 00 518, 520
HEm (B)
A 13.10 48, 500. 00 635, 350
HEf (C)
A 15.00 40, 300. 00 604, 500
Hifr&
A 4.70 36, 100. 00 169, 670
=1 it EZ8eH - 1. 00K 2,235, 780. 00 2,235, 780




K& T/ \vr—2

it SR b % Hh R IS B R AT K5

E=:5
&% BEEROREEDOESE 1xXHY
2 fi g - KT Bifr = B £ IS B &
FERRER (FRET)
A 3.20 66, 900. 00 214,080
AR (A)
A 6.00 59, 600. 00 357, 600
AR (B)
A 13.20 48, 500. 00 640, 200
AR (C)
A 13.20 40, 300. 00 531, 960
Hiit &
A 3.80 36, 100. 00 137,180
= B E3E8EH - 1.00K 1,881, 020. 00 1,881, 020
ES:6
‘Effr\bﬁ%%ﬁ% 1:T'—t§l')
& g Fig - BKTE B =1 B {f £ W E 5 &
F AR (BRET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 3.00 59, 600. 00 178, 800
AR (C)
A 3.00 40, 300. 00 120, 900
=) it YEZEREHN : 1.00= 366, 600. 00 366, 600
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517
B EBTERREER 1K%Y
% E R - kTiE B = B {f L] i s &
FEHRED (B&ED
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.00 59, 600. 00 59, 600
A (B)
A 2.00 48, 500. 00 97,000
AR (C)
A 2.00 40, 300. 00 80, 600
Hifr&
A 2.00 36, 100. 00 72,200
=1 B E%HeH - 1.00=K 376, 300. 00 376, 300
%5 :8
&% EEARE 1KLY
4 {1 A - KT =X = B i %8 i w &
EXHARE
= 1.00 97, 036. 00 97,036
= B E¥8EH : 1.00K 97, 036. 00 97,036
=
B EBHRES 1B
% b R - BIkTik ==X = B {f %8 i 5 &
XEBRRGE
= 1.00 120, 000. 00 120, 000
=) it YEZk8EH - 1.00=X 120, 000. 00 120, 000




